
CORRECTION DE LA NUMÉRATION

Exercice 5 p. 29 =

Etna = 3 330 mètres ou 3.330 mètres

Vésuve = 1 221 mètres ou 1.221 mètres

Galeras = 4 276 mètres ou 4.276 mètres

Exercice 6 p. 29 =

a) 7 000 ou 7.000
b) 1 043 ou 1.043
c) 3 067 ou 3.067
d) 6 008 ou 6.008

Exercice 7 p. 29 =

4 208 = quatre-mille-deux-cent-huit

3 056 = trois-mille-cinquante-six

9 005 = neuf-mille-cinq

6 720 = six-mille-sept-cent-vingt

8 040 = huit-mille-quarante

6 100 = six-mille-cent

2 090 = deux-mille-quatre-vingt-dix


